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= H &8 (=m) # H ®E (@)
1 FHH 305, 114 | 1 L¥EE 346, 707
1 FHH 395, 114 | BEXLERE 215,812
2 EEZHE 2 2 BENEERE 130, 895
| EE#BE 1] 2 BEEESE 34,574
2 ERPREFHEE 1 | BEEERHE 34,574
3 RXti® 1| 3 HAEEAES 292
1 B4EEE 1 | HABEGIES 292
4 BAE 2| 4 BI% 31,500
| th&itEAE 1 | HEIE 31,500
2 BUEBAR 1| 5 L/ EBEREBLATLE 1
5 Bud 90, 000 1 LETFEEREBSRTLE 1
1 @RE 90,000 | 6 EAREER 500
6 FEIRA 742 1 EARERS 500
1 EHIRA 742 | 7 H%kHE 59,392
1 Bl 59, 392
8 TiEE 12,895
1 FliE#E 12,895
A & &t 485, 861 =3 =) H 485, 861






